ELECTRICAL CIRCUITS 2 - CLASS NO. 3 (12.03.2024)
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PROBLEM #1

Calwldle he cutents in oll brances of vhe citautt piesented in he figute.
Er= 100V, E2=500V, Ra=Qy= R3=500, Xn=50.1, Xlsxg 400&
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PROBLEM #2

What should be the pover 0f the Resistor Ry o Jhot i is not damaged duting
opecotion in the citcuit shoun in the figuie .

=10V, Q1=400, Xia= 50, Xa=kOd, Xu=100, Xe= 0.

Stondad  vesistor pooel: 0.4950, 0.95), Qud, 0.5V, 0.60, 0.95U, 1U, 444,
21, 30,50, W, 89, 8uU.

htla= 1y «— KCL

U=Rals U)Q,Ia@ JXLQ,IZ" W « KVL
0= JXtilz - F(§Xals) +— KVL
@

@ -i% uhen one cutient eqlers  dot and the other
culteat  leaves a dot

iXn whe both Ccwtieats entec the dot
(0c poth leae he dots)

0L +§95 T -0 To-3 40T, +5 103, = 10

10+335) 1 -3S0 ], = | ‘ [
(10+)35) 1 -350 T, = 10 (104)35)11 -350- 3 [, =10

0T, ~34014 -20Ts= 0 104538 1y ~§535 = 19
i [ % (40«31.0)1_, =10
3&0{2—34014-SQOIJ—)'QOL:O | I *401‘{ (0 0533 +30. 2353)
~§3054}90% =0
j20% =301 520 Un= - T1=10(0.0588 +) 0. 1353) =
D=3, = (p5%4; 2.359) V

=Us- L= £ 9.352)( 0. 05%%- 0.235)\ -
0, Re{%«‘y So=Un-I* - (0.59%4; 2.363) (0.0583-)0.0)

= 0.583¢ VA
The pond 0 vesistor Ra shoud be .



PROBLEM #3 | (this problem was not solved during the class)

Wiite equations accordig to KCL and KL fov the d,tw# pesented in Hhe %‘gme
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PROBLEM #4 | (this problem was not solved during the class)

Calculate metec teadings in he Citcuit shoun in the Figure.
U= 100V, Rq= Ra= 154, Xu=Xy= 300?,, Xu=Xe= 10,
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